HREH | 20124F8 A (5 1hR)

7FHARAY— L& 1mgINPI1DZ B (MERAER) ICBET 58 H

—Jo#A&tt
O&{AR R
RiFai: prPask
OFRER&A
®ikg: TFFRAOY—ILEEImegINP]
HEHRS: 40255081/2
40255084/1
40255135/1
OREEHRCREFHM
{R7FEME: 40°C = 1°C/ 75 %RH = 5 %RH
BRELHRE: 608
OFHi )
SERIER: MK, AN MEARGERDE) .. 2EH—1%. T
HEREEER: BAREEUICIHA.3nARUHAR
OHERfIER
EEX(PTPEE)
1050 r <HHHE; RREDIS5.0 ~ 1050 %>
—0—40255081/2
40255084/1
= —&—40255135/1
mlmlmo‘o
4 —
(Mean.n = 3)
95.0 ! ! !
0 1 2 3 4 5 6
REHE (A)
FHOVFOHBIEREUTIZTRT
. - #BEL RFHIRM
HERIEHE ayhE e y
” TR B8 [ paas 5A# A HA
40255081/2 e e BE BE
TR 40255084/1 [ABAMD I LIA—TAVTRETHD 3 e BE BE BE
40255135/1 EE e BE i)
40255081/2 e BE BE BE
B 40255084/1 |15 AN DA HZE(E80 %L L THS 3 HEE BE BE BE
40255135/1 e BE BE BE
40255081,2 TIICINTER T T AT J—JUUJTETLT.0 B e S & e
R *
(ﬁé%ﬁ) 40255084/1 h)l«ﬂ%‘iﬁ‘ﬁ?-}-xhgy’—)bu%a}%wm@ 3 e BE BE BE
40255081/2 e BE BE BE
HEIY—1t | 40255084/1 |15.0 %ZEHEZ AL 3 HEE HEE BE BE
40255135/1 e BE BE BE
40255081/2 98.3 99.4 98.4 985
TR REMI5.0 ~ 105.0 %ITRIES
Eﬁﬁ 40255084/1 f}i?&—gt [SRIETETFAM 08.4 99.1 976 992
40255135/1 97.6 99.4 98.0 98.6

OF%H
R EERRERAVILESER (40 °C HXNEETS %, 60 F) DR, 7T AREY —ILEEImeINPIIZBEE O TIHRETIZH L
TIEMRETHHEA RSN T,

1/1



